BOLT TORQUE SPECIFICATIONS
Size | Grade Torque
7/8" 8 650 ft/lbs.

22MM | 10.9 702 ft/lbs.

#2 & #4 - used for mounting
SideQuest only

EMCO

SIDEQUEST ©1200 & QUICK TACH

9r Series
. 7/8" Holes to be drilled in
o 30 Series Tractor Frame
. A JAN
o © 1 %% e H ® ® H ﬂ
O ]
Quicll Tach sid Ql . ITEM PART# |DESCRIPTION Qry.
. ideQues
Mounting Holes Mounting Holes 1. 10678 |NUT, .875NC NYLON LOCK 18
2. 13222 |BOLT, 22MM-2.50 X 120MM GR10.9 20
3. 13223 |BOLT, .875NC X 3.00 GR8 18
This b | ires John D , 4. 13919-95 | STARTER STUD 2
f 1S taS?p ate re?tull([tesco : cteere S 5. 14515-72 |RIGHT BASEPLATE F/ JD 30/9R SERIES 1
Ton d:aﬁ:rigrmore ill{for(,nqa:ioxour 6. | 14516-72 | LEFT BASEPLATE F/ JD 30/9R SERIES 1
Please order replacement parts by PART NO. and DESCRIPTION.
DEMCO

JOHN DEERE

9230, 9330, 9430,9530, 9630

9360R, 9410R, 9460R, 9510R, 9560R

READ complete manual CAREFULLY

BEFORE attempting operation.

AC20094 , Rev 2

2/19

4010 320th Street ® Boyden, IA 51234
www.demco-products.com ¢ 800.543.3626



Baseplate Install Instructions

Preparation: Remove any loader/blade brackets from the tractor. The tractors duals must be set to 120" wheel
spacing for mounting SideQuest.

1. Install John Deere's front axle support kit for tractor 2. Install the right baseplate using 7/8" x 3.00"” bolts and
mounted tanks. nylon lock nuts. Repeat for opposite side. Tighten
7/8" bolts to specified torque found on front cover.

3. Center punch the drilled hole location and use a 4. Install 7/8" x 3.00" bolts and nylon lock nuts into
29/32" drill bit to drill holes. Be sure to check for drilled holes and tighten to specified torque.
hose clearance on reverse side before drilling.

DEMCO



